

Addition de Nombres Entiers (G)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$(-25) + (-57) =$$

$$(-3) + (+19) =$$

$$(-2) + (+84) =$$

$$(-47) + (-30) =$$

$$(+62) + (+77) =$$

$$(+99) + (-36) =$$

$$(-88) + (-10) =$$

$$(-90) + (-96) =$$

$$(+63) + (+86) =$$

$$(-3) + (-79) =$$

$$(-79) + (-28) =$$

$$(+38) + (-43) =$$

$$(+60) + (+48) =$$

$$(+91) + (+28) =$$

$$(+92) + (+57) =$$

$$(+46) + (-60) =$$

$$(+72) + (+72) =$$

$$(+70) + (-72) =$$

$$(+61) + (+42) =$$

$$(-32) + (-31) =$$

$$(-61) + (-80) =$$

$$(-29) + (+80) =$$

$$(+93) + (-19) =$$

$$(-26) + (+96) =$$

$$(+96) + (+65) =$$

$$(+7) + (+56) =$$

$$(+37) + (+77) =$$

$$(+39) + (+17) =$$

$$(+22) + (+53) =$$

$$(-52) + (+6) =$$

Addition de Nombres Entiers (G) Réponses

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$\begin{aligned}(-25) + (-57) &= \\ &= (-82)\end{aligned}$$

$$\begin{aligned}(-3) + (+19) &= \\ &= (+16)\end{aligned}$$

$$\begin{aligned}(-2) + (+84) &= \\ &= (+82)\end{aligned}$$

$$\begin{aligned}(-47) + (-30) &= \\ &= (-77)\end{aligned}$$

$$\begin{aligned}(+62) + (+77) &= \\ &= (+139)\end{aligned}$$

$$\begin{aligned}(+99) + (-36) &= \\ &= (+63)\end{aligned}$$

$$\begin{aligned}(-88) + (-10) &= \\ &= (-98)\end{aligned}$$

$$\begin{aligned}(-90) + (-96) &= \\ &= (-186)\end{aligned}$$

$$\begin{aligned}(+63) + (+86) &= \\ &= (+149)\end{aligned}$$

$$\begin{aligned}(-3) + (-79) &= \\ &= (-82)\end{aligned}$$

$$\begin{aligned}(-79) + (-28) &= \\ &= (-107)\end{aligned}$$

$$\begin{aligned}(+38) + (-43) &= \\ &= (-5)\end{aligned}$$

$$\begin{aligned}(+60) + (+48) &= \\ &= (+108)\end{aligned}$$

$$\begin{aligned}(+91) + (+28) &= \\ &= (+119)\end{aligned}$$

$$\begin{aligned}(+92) + (+57) &= \\ &= (+149)\end{aligned}$$

$$\begin{aligned}(+46) + (-60) &= \\ &= (-14)\end{aligned}$$

$$\begin{aligned}(+72) + (+72) &= \\ &= (+144)\end{aligned}$$

$$\begin{aligned}(+70) + (-72) &= \\ &= (-2)\end{aligned}$$

$$\begin{aligned}(+61) + (+42) &= \\ &= (+103)\end{aligned}$$

$$\begin{aligned}(-32) + (-31) &= \\ &= (-63)\end{aligned}$$

$$\begin{aligned}(-61) + (-80) &= \\ &= (-141)\end{aligned}$$

$$\begin{aligned}(-29) + (+80) &= \\ &= (+51)\end{aligned}$$

$$\begin{aligned}(+93) + (-19) &= \\ &= (+74)\end{aligned}$$

$$\begin{aligned}(-26) + (+96) &= \\ &= (+70)\end{aligned}$$

$$\begin{aligned}(+96) + (+65) &= \\ &= (+161)\end{aligned}$$

$$\begin{aligned}(+7) + (+56) &= \\ &= (+63)\end{aligned}$$

$$\begin{aligned}(+37) + (+77) &= \\ &= (+114)\end{aligned}$$

$$\begin{aligned}(+39) + (+17) &= \\ &= (+56)\end{aligned}$$

$$\begin{aligned}(+22) + (+53) &= \\ &= (+75)\end{aligned}$$

$$\begin{aligned}(-52) + (+6) &= \\ &= (-46)\end{aligned}$$